Completed by County Counselor's Office						
Action Requested:	Ordinance	Res.Ord No.:	5682			
Sponsor(s):	Tony Miller	Legislature Meeting Date:	10/17/2022			

#### Introduction

Action Items: ['Award', 'Transfer']

#### Project/Title:

Awarding the South Miller Road Bridge Reconstruction contract, JCPW 3214, Federal Project No. BRO-B048 (56), to Radmacher Brothers Excavating Company, Inc. in Pleasant Hill, Missouri under the terms and conditions of the Invitation to Bid 76-22.

#### Request Summary

Awarding the South Miller Road Bridge Reconstruction contract, JCPW 3214, Federal Project No. BRO-B048 (56), to Radmacher Brothers Excavating Company, Inc. in Pleasant Hill, Missouri under the terms and conditions of the Invitation to Bid 76-22.

Request Summary: The County entered into an agreement with MoDOT to fund the construction of bridge improvements on South Miller Road in the Off System Bridge Program (BRO). This program provides for 80% funding on eligible costs for the project. The Local Entity is responsible for the 20% match. MoDOT has approved using our soft match credit for the match, which results in 100% federal funding for the design of this bridge.

The County's Engineering Division prepared the Project Manual and Contract Documents for Bid No. ITB 76-22. The work on the South Miller Road Bridge Reconstruction contracts includes the removal and replacement of an existing double 10'x8' reinforced concrete culvert, grading, placement of riprap for erosion prevention, and minimal roadway replacement as part of the reconstruction work.

Advertisements were posted by MoDOT on their RFP website, by the Purchasing Division of the Finance Department on the County's website, and on the "Bonfire" website. Construction documents were viewed by twenty-four (24) vendors. A total of three (3) bids were submitted on August 30, 2022 at 2:00 PM. The summary of the bids are as follows:

<u>Bidder Name</u>	City and State	Bid Submitted
Radmacher Brothers Excavating Company, Inc.	Pleasant Hill, MO	\$ 613,789.94
Lehman Construction, LLC	California, MO	\$ 810,476.78
Clarkson Construction Company	Kansas City, MO	\$1,043,901.30

The Engineer's Estimate for the project was \$714,065.00.

Pursuant to Section 1054.6 of the Jackson County Code, Chapter 10 Purchasing, the Director of Public Works and the Director of Finance and Purchasing recommend that the contract be awarded to Radmacher Brothers Excavating Company, Inc. (Pleasant Hill, MO), being the lowest and best bidder

with the following changes:

We request that:

1. A Resolution be prepared authorizing the County Executive to execute this construction contract with Radmacher Brothers Excavating Company, Inc. (Pleasant Hill, MO).

2. The Director of Finance and Purchasing be authorized to encumber funds to cover the costs of this contract.

3. The Director of Public Works be authorized to approve adjustments in the construction contract, to the extent that there will be no further funding obligation by the County.

#### **Contact Information**

Department:	Public Works	Submitted Date:	9/22/2022
Name:	Eric Johnson	Email:	eljohnson@jacksongov.org
Title:	Senior Project Manager, Civil Engineer III	Phone:	816-881-4499

Budget Information							
Amount authorized by th	Amount authorized by this legislation this fiscal year:						
Amount previously autho	rized this fiscal year:			\$ 0			
Total amount authorized	after this legislative action	:		\$613,790			
Is it transferring fund?	Is it transferring fund?						
Transferring Fund From:							
Fund:	Department:	Line Item Account:	Amount:				
010 (Grant Fund)	9999 (*)	32810 (Undesignated		\$613,790			
		Fund Balance)					
Transferring Fund To:							
Fund:	Department:	Line Item Account:	Amount:				
010 (Grant Fund)	1508 (S Miller Rd	56030 (Architectural &		\$613,790			
	Bridge)	Engin. Services)					

Prior Legislation					
Prior Ordinances					
Ordinance:	Ordinance date:				
5036	October 23, 2017				
Prior Resolution					
Resolution:	Resolution date:				

### **Request for Legislative Action**

Purchasing	
Does this RLA include the purchase or lease of	Yes
supplies, materials, equipment or services?	
Chapter 10 Justification:	Formal Bid
Core 4 Tax Clearance Completed:	Yes
Certificate of Foreign Corporation Received:	Yes
Have all required attachments been included in	Yes
this RLA?	

Certificate of Compliance In Compliance Minority, Women and Veteran Owned Business Program
Minority, Women and Veteran Owned Business Program
Goals Not Applicable for following reason: State of MO funding - state 5% DBE goal applies
MBE: .00%
WBE: .00%
VBE: .00%
Prevailing Wage
Construction projects over \$75000 ['Separate bid']

#### **Fiscal Information**

• Funds sufficient for this appropriation and/or transfer are available from the source indicated on the budget information tab.

#### History

Submitted by Public Works requestor: Eric Johnson on 9/22/2022. Comments:

Approved by Department Approver Kristina J. Miller on 10/4/2022 10:30:01 AM. Comments:

Approved by Purchasing Office Approver Barbara J. Casamento on 10/4/2022 11:14:13 AM. Comments:

Approved by Compliance Office Approver Katie M. Bartle on 10/4/2022 1:06:44 PM. Comments:

Approved by Budget Office Approver Sarah L. Matthes on 10/4/2022 1:32:34 PM. Comments: Fiscal Note Attached

Approved by Executive Office Approver Sylvya Stevenson on 10/4/2022 4:17:59 PM. Comments:

Approved by Counselor's Office Approver Elizabeth Freeland on 10/13/2022 11:15:04 AM. Comments:

# Supplemental Appropriation Request Jackson County, Missouri

Funds sufficient for this appropriation are available from the source indicated below.

Date: October 4, 2022		ORD # eRLA #	5682 669
Department / Division	Character/Description	From	То
Grant Fund - 010			
1508 - S Miller Rd Bridge	47954 - Increase Revenues	613,790	
9999 - Non Specific Department	32810 - Undesignated Fund Balance		613,790
9999 - Non Specific Department	32810 - Undesignated Fund Balance	613,790	
1508 - S Miller Rd Bridge	56030 - Architectural & Engin. Services		613,790
APPROVED By Sarah Matthes at 1:31 pm, Oct 04, 2022		\$ 1,227,580	\$ 1,227,580

Budgeting



Jackson County, Missouri Department of Public Works Engineering Division

### SOUTH MILLER ROAD BRIDGE REPLACEMENT COUNTY PROJECT NO. 3214 COUNTY BID NO. ITB 76-22

#### **UNOFFICIAL BID SUMMARY**

#### BID SUBMITTAL DATE AND TIME: August 30, 2022 @ 2:00 PM

NOTE: This is an unofficial bid summary and only reflects the initial reading of the bids received, not the evaluation of such bids.

NO.	Firm	City and State	Amount Bid	% above Low
1	Radmacher Brothers Excavting Company, Inc	Pleasant Hill, MO	\$613,789.94	0.00%
2	Lehman Construction, LLC	California, MO	\$810,476.78	32.04%
3	Clarkson Construction Company	Kansas City, MO	\$1,043,901.30	70.07%
	Engineers Estimate		\$714,065.00	16.34%

#### **Bid Tabulation for** South Miller Road Bridge Reconstruction

Jackson County No. 3214 - Invitation to Bid 76-22

Department of Public Works - Engineering Division

Bid Submittal Date/Time: August 30, 2022 at 2:00 PM

NOTE: This is an Unofficial Bid Tabulation and only reflects the initial reading of the bids received, not the evaluation of such bids.

### UNOFFICIAL

				Lowe	st Bidder	2nd	Lowest	3rd	Lowest		
This project is funded by the Missouri Department of Transportation.		Radmacher Brothers Excavting Company, Inc. Pleasant Hill, MO		Lehman Construction, LLC California, MO		Clarkson Construction Company Kansas City, MO		Engineers Estimate			
Item	Description	Quantity	Units	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
	Roadway Items										
1	Mobilization	1	LS	\$57,545.00	\$57,545.00	\$82,750.00	\$82,750.00	\$103,000.00	\$103,000.00	\$46,000.15	\$46,000.15
2	Contractor Furnished Survey and Staking	1	LS	\$8,956.00	\$8,956.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$6,400.00	\$6,400.00
3	Clearing and Grubbing	0.3	Acre	\$10,688.00	\$3,206.40	\$80,000.00	\$24,000.00	\$6,000.00	\$1,800.00	\$80,000.00	\$24,000.00
4	Removal of Improvements	1	LS	\$14,726.00	\$14,726.00	\$23,000.00	\$23,000.00	\$66,000.00	\$66,000.00	\$35,000.00	\$35,000.00
5	Unclassified Exvacation	436.7	CY	\$199.80	\$87,252.66	\$135.00	\$58,954.50	\$47.00	\$20,524.90	\$17.50	\$7,642.25
6	Class 4 Excavation	296.7	CY	\$25.45	\$7,551.02	\$105.00	\$31,153.50	\$65.00	\$19,285.50	\$30.00	\$8,901.00
7	Embankment	757.6	CY	\$2.65	\$2,007.64	\$40.00	\$30,304.00	\$49.00	\$37,122.40	\$6.00	\$4,545.60
8	Contractor Borrow	248.2	CY	\$38.40	\$9,530.88	\$55.00	\$13,651.00	\$50.00	\$12,410.00	\$35.00	\$8,687.00
9	Barricades (Type III w/ Flashers)	8	Each	\$395.10	\$3,160.80	\$450.00	\$3,600.00	\$160.00	\$1,280.00	\$1,900.00	\$15,200.00
10	Construction Signs	274	SF	\$18.95	\$5,192.30	\$22.00	\$6,028.00	\$12.00	\$3,288.00	\$35.00	\$9,590.00
11	Foundation Stabilization	196	CY	\$70.30	\$13,778.80	\$84.00	\$16,464.00	\$80.00	\$15,680.00	\$87.00	\$17,052.00

File: BRO B048(56) South Miller Bridge Reconstuction\_Bid Tabs.xlsx - Bid\_Tabulation

NOTE: This is an Unofficial Bid Tabulation and only reflects the initial reading of the bids received, not the evaluation of such bids.

### UNOFFICIAL

				Lowe	st Bidder	2nd	Lowest	3rd	Lowest		
This project is funded by the Missouri Department of Transportation.		Radmacher Brothers Excavting Company, Inc. Pleasant Hill, MO		Lehman Construction, LLC California, MO		Clarkson Construction Company Kansas City, MO		Engineers Estimate			
Item	Description	Quantity	Units	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
12	Culvert Leveling Pad	295	SY	\$16.20	\$4,779.00	\$75.00	\$22,125.00	\$65.00	\$19,175.00	\$40.00	\$11,800.00
13	Double Cell 10' x 8' RCB Culvert (Precast of Cast-in-Place)	104	LF	\$3,271.00	\$340,184.00	\$4,000.00	\$416,000.00	\$6,400.00	\$665,600.00	\$3,900.00	\$405,600.00
14	Rock Blanket (Type 2)	48	CY	\$86.50	\$4,152.00	\$215.00	\$10,320.00	\$161.00	\$7,728.00	\$290.00	\$13,920.00
15	Woven Wire Fence	203	LF	\$18.95	\$3,846.85	\$42.00	\$8,526.00	\$54.00	\$10,962.00	\$90.00	\$18,270.00
16	Barbed Wire Fence (Temporary)	260	LF	\$12.65	\$3,289.00	\$24.00	\$6,240.00	\$40.00	\$10,400.00	\$90.00	\$23,400.00
17	Aggregate Base (4")(MoDOT Type 5)	128	Tons	\$50.30	\$6,438.40	\$47.00	\$6,016.00	\$88.00	\$11,264.00	\$100.00	\$12,800.00
18	Asphaltic Concrete Pavement (4")(RC Type 1-01)	122	Tons	\$237.10	\$28,926.20	\$225.00	\$27,450.00	\$170.00	\$20,740.00	\$160.00	\$19,520.00
19	Silt Fence	808	LF	\$3.15	\$2,545.20	\$5.50	\$4,444.00	\$2.00	\$1,616.00	\$6.00	\$4,848.00
20	Sediment Removal	8.1	CY	\$18.95	\$153.50	\$3.80	\$30.78	\$55.00	\$445.50	\$90.00	\$729.00
21	Permanent Signing	24	SF	\$82.70	\$1,984.80	\$105.00	\$2,520.00	\$95.00	\$2,280.00	\$90.00	\$2,160.00
22	Temporary Seeding and Mulching	0.5	Acre	\$2,845.00	\$1,422.50	\$2,800.00	\$1,400.00	\$2,000.00	\$1,000.00	\$18,000.00	\$9,000.00
23	Permanent Hydroseeding and Mulching	0.5	Acre	\$6,322.00	\$3,161.00	\$11,000.00	\$5,500.00	\$4,600.00	\$2,300.00	\$18,000.00	\$9,000.00
	Total Bid for Projec	t =			\$613,789.94		\$810,476.78		\$1,043,901.30		\$714,065.00

Notes: 1. The County reserves the right to adjust the quantities up or down to any and all bid items to accommodate available funds.

#### **Eric L. Johnson**

From: Sent:	MoDOT SharePoint Administrator <spadmin@modot.mo.gov> Wednesday, September 21, 2022 12:35 PM</spadmin@modot.mo.gov>
То:	Melissa Schmitz; Eric L. Johnson; Danica Stovall-Taylor; LPASubmit
Cc:	Kim Temmen; Rodney A. Braman
Subject:	EXTERNAL Concurrence in Award
Importance:	Low

WARNING: This email originated outside of Jackson County. DO NOT CLICK links or attachments unless you recognize the sender and know the content is safe.



## **Missouri Department of Transportation**

Patrick K. McKenna, Director

09/21/2022

County of Jackson Ric Johnson, PE

Re: Concurrence in Award BRO B048(056) South Miller Road Bridge Reconstruction

Dear Ric Johnson, PE

The Missouri Department of Transportation (MoDOT) concurs with the recommendation to award this project to Radmacher Brothers Excavating Company, Inc., with a low bid of \$613,789.94. MoDOT's External Civil Rights have approved the DBE participation submitted by the awarded bidder to fulfill the DBE Goal of 5%.

After executing the contract, please submit an electronic copy of the following documents to your MoDOT district contact:

Final Plans Package given to Bidders (include all addenda that were issued)
Fully Executed Contract
Payment Bond, Performance Bond
Insurance Certificate
Signed Worker Eligibility Verification Affidavit
Signed E-Verify Memorandum of Understanding (MOU)
Certification Regarding Affirmative Action signed by prime contractor (only if NOT utilizing MoDOT's Federal Project Bid Proposal Boilerplate)

MoDOT will grant the authority to issue the Notice To Proceed after these documents have been reviewed. The fully executed contract must be the

same version that was shown in the bid proposal and must include all signatures, etc.

The itemized proposal is used in preparing a formal project agreement with FHWA. Upon FHWA's approval, a copy of the summary of estimated cost will be furnished for your use. You will then be able to submit invoices for reimbursement.

Please contact your district representative at https://www.modot.org/contact-modot-lpa, to coordinate the scheduling of a pre-construction conference or if you have any questions regarding the required submittals.

Sincerely,

ashley Bucktor, P.E.

Ashley Buechter, P.E. Assistant State Design Engineer - LPA (573)526-6997

Please do not respond to this automated email. Forward the email, with your questions or concerns to LPASubmit@modot.mo.gov

#### JACKSON COUNTY PUBLIC WORKS SOUTH MILLER ROAD BRIDGE RECONSTRUCTION

### NOTICE TO CONTRACTORS

All bids must be submitted through the Bonfire Portal at <u>https://jacksongov.bonfirehub.com</u> before 2:00 P.M. (prevailing local time) on August 30, 2022.

(1) **PROPOSED WORK**: The proposed work, hereinafter called the work, includes:

Removal of the existing cast-in-place culvert and the installation of a double 10' x 8' pre-cast box culvert, including pre-cast end sections. The Contractor shall have the option to construct the structure as a cast-in-place double box culvert, including end sections using MoDOT standard details. Additional work tasks includes reshaping of the roadway shoulders and placement of rock blanket around the wingwalls to prevent erosion.

(2) <u>COMPLIANCE WITH CONTRACT PROVISIONS</u>: The Bidder, having examined and being familiar with the local conditions affecting the work, and with the contract, contract documents, including the current version of the Missouri Highways and Transportation Commission's "Missouri Standard Specifications for Highway Construction, 2022", and "Missouri Standard Plans for Highway Construction, 2022", their revisions, and the request for bid, including appendices, the special provisions and plans, hereby proposes to furnish all labor, materials, equipment, services, etc., required for the performance and completion of the work. All references are to the Missouri Standard Specifications for Highway Construction, as revised, unless otherwise noted.

The following documents are available on the Missouri Department of Transportation web page at www.modot.mo.gov under "Business with MoDOT" "Standards and Specifications". The effective version shall be determined by the letting date of the project.

General Provisions & Supplemental Specifications 2022 Missouri Standard Plans for Highway Construction

These supplemental bidding documents contain all current revisions to the bound printed versions and have important legal consequences. It shall be conclusively presumed that they are in the Bidder's possession, and they have been reviewed and used by the Bidder in the preparation of any bid submitted on this project.

Please note that within the above-listed documents, the term "Commission" shall be replaced with the term, "Jackson County Public Works", and the term "Engineer" is a reference to the Engineer-of-Record from the County.

The contracting authority for this contract is Jackson County Public Works.

(3) <u>PERIOD OF PERFORMANCE</u>: If the Bid is accepted, the Bidder agrees that work shall be diligently prosecuted at such rate and in such manner as, in the judgment of the Engineer, is necessary for the completion of the work within the time specified as follows in accordance with Sec 108:

Working Days: 95

(4) <u>LIQUIDATED DAMAGES</u>: The bidder agrees that, should the bidder fail to complete the work in the time specified or such additional time as may be allowed by the engineer under the contract, the amount of liquidated damages to be recovered in accordance with Sec 108 shall be as follows:

Liquidated damages: \$950 per day (see General Conditions GC-49 and Special Conditions SC-49).

(5) <u>BID GUARANTY</u>: The Bidder shall submit a Bid Guaranty with the Bid meeting the requirements of Sec. 102 of the Missouri Standard Specifications for Highway Construction. A sample project Bid Bond form is included in the project manual. The Bidder shall mark the box below to identify the type of Bid Guaranty.

- X Paper Bid Bond
- □ Cashier's Check

(6) <u>CERTIFICATIONS FOR FEDERAL JOBS</u>: By signing and submitting this Bid, the Bidder makes the certifications appearing in Sec. 102.18.1 (regarding affirmative action and equal opportunity), Sec. 102.18.2 (regarding disbarment, eligibility, indictments, convictions, or civil judgments), Sec. 102.18.3 (regarding anti-collusion), and Sec. 102.18.4 (regarding lobbying activities). Any necessary documentation is to accompany the bid submission, as required by these sections. As provided in Sec. 108.13, the contracting authority may terminate the contract for acts of misconduct, which includes but is not limited to fraud, dishonesty, and material misrepresentation or omission of fact within the bid submission.

(7) <u>ANTIDISCRIMINATION</u>: The Contracting Authority hereby notifies all Bidders that it will affirmatively insure that in any Contract entered into pursuant to this advertisement, businesses owned and controlled by socially and economically disadvantaged individuals will be afforded full opportunity to submit bids in response to this invitation and will not be discriminated against on the grounds of race, color, religion, creed, sex, age, ancestry, or national origin in consideration for an award.

(8) <u>FEDERAL AND STATE INSPECTION:</u> The Federal Government is participating in the cost of construction of this project. All applicable Federal laws, and the regulations made pursuant to such laws, shall be observed by the contractor, and the work will be subject to the inspection of the appropriate State or Federal Agency in the same manner as provided in Sec 105.10 of the Missouri Standard Specifications for Highway Construction with all revisions applicable to this bid and contract.

(9) <u>PREVAILING WAGE (FEDERAL AND STATE)</u>: This contract requires payment of the prevailing hourly rate of wages for each craft or type of work required to execute the contract as determined by the Missouri Department of Labor and Industrial Relations, and requires adherence to a schedule of minimum wages as determined by the United States Department of Labor. For work performed anywhere on this project, the contractor and the contractor's subcontractors shall pay the higher of these two applicable wage rates. The applicable state wage rates for this contract are detailed in "Annual Wage Order No. 29", that is attached to this bidding document. The applicable federal wage rates for this contract are the effective Davis-Bacon federal wage rates posted the tenth day before the bid opening date and are attached herein.

These supplemental Bidding Documents have important legal consequences. It shall be conclusively presumed that they are in the Bidder's possession, and they have been reviewed and used by the Bidder in the preparation of any Bid submitted on this project.

(10) <u>WORKER ELIGIBILITY REQUIREMENTS</u>: Execution of the construction contract for this project is dependent upon the awarded Bidder providing an Affidavit of Compliance AND E-Verify Memorandum-of-Understanding (MOU) between the Bidder and Department of Homeland Security to the Contracting Authority as required by section 285.530 RSMo. The cover page and signature page of the E-Verify MOU and the Affidavit must be submitted prior to award of this contract.

A sample Affidavit of Compliance can be found at the Missouri Attorney General's website at the following link: <u>http://ago.mo.gov/forms/Affidavit\_of\_Compliance.pdf</u>

All Bidders must also be enrolled in the E-Verify Program, and include their MOU prior to contract execution. Bidders who are not enrolled will need to go to the following website link and select "Enroll in the Program" to get started. After completing the program, they will receive their E-Verify MOU with Department of Homeland Security. This document will need to be printed out and kept on file so that a copy can be attached to the Affidavit of Compliance. The link is: <u>http://www.dhs.gov/files/programs/gc\_1185221678150.shtm</u>

This requirement also applies to subcontractors and contract labor, but this contract only requires submittal of the verification documents for the prime contractor. It is the prime contractor's responsibility to verify the worker eligibility of their subcontractors in order to protect their own company from liability as required by section 285.530 RSMo.

(11) <u>OSHA TEN HOUR TRAINING REQUIREMENTS:</u> Missouri Law, 292.675 RSMO, requires any awarded contractor and its subcontractor(s) to provide a ten-hour Occupational Safety and Health Administration (OSHA) Construction Safety Program (or a similar program approved by the Missouri Department of Labor and Industrial Relations as a qualified substitute) for their on-site employees (laborers, workmen, drivers, equipment operators, and craftsmen) who have not previously completed such a program and are directly engaged in actual construction of the improvement (or working at a nearby or adjacent facility used for construction of the improvement). The awarded contractor and its subcontractor(s) shall require all such employees to complete this ten-hour program, pursuant to 292.675 RSMO, unless they hold documentation on their prior completion of said program. Penalties, for Non-Compliance include contractor forfeiture to the Contracting Authority in the amount of \$2,500, plus \$100 per contractor and subcontractor employee for each calendar day such employee is employed beyond the elapsed time period for required program completion under 292.675 RSMO.

(12) <u>BUY AMERICA REQUIREMENTS:</u> Construction contracts shall assure compliance with Section 165 of the Surface Transportation Assistance Act of 1982, Section 337 of the Surface Transportation and Uniform Relocation Assistance Act of 1987, and 23 CFR 635.410 regarding Buy America provisions on the procurement of foreign products and materials. On all contracts involving Federal-aid, all products of iron, steel, or a coating of steel which are incorporated into the work must have been manufactured in the United States. The Contracting Authority may allow minimal amounts of these materials from foreign sources, provided the cost does not exceed 0.1 percent of the contract sum or \$2,500, whichever is greater. The Contractor certifies that these materials are of domestic origin. Additional information regarding the "Buy America" requirements can be found at: <a href="http://www.fhwa.dot.gov/programadmin/contracts/b-amquck.cfm">http://www.fhwa.dot.gov/programadmin/contracts/b-amquck.cfm</a>

(13) <u>ADDENDUM ACKNOWLEDGEMENT</u>: The undersigned states that the all addenda (if applicable) have been received, acknowledged and incorporated into their Bid, prior to submittal. For paper bids, staple addenda to the bid in the appropriate part of the bid. (Addendum 1 - 8 05 22)

(Addendum 1 - 8-05-22)

(14) <u>SIGNATURE AND IDENTITY OF BIDDER</u>: The undersigned states that the following provided information is correct and that (if not signing with the intention to bind themselves to become the responsible and sole bidder) they are the agent of, and they are signing and executing this, as the bid of

#### Radmacher Brothers Excavating Co., Inc.

which is the correct LEGAL NAME as stated on the Contractor questionnaire.

a) The organization submitting this bid is a(n) (1) individual bidder, (2) partnership, (3) joint venturer (whether individuals or corporations, and whether doing business under a fictitious name), or

#### JACKSON COUNTY PUBLIC WORKS SOUTH MILLER ROAD BRIDGE RECONSTRUCTION

(4) corporation. Indicate by marking the appropriate box below.

sole individual

partnership

joint venture

Corporation, incorporated under laws of state of <u>Missouri</u>

b) If the Bidder is doing business under a fictitious name, indicate below by filling in the fictitious

name:

Executed by Bidder this <u>30th</u> day of <u>August</u> 2022.

THE BIDDER CERTIFIES THAT THE BIDDER AND ITS OFFICIALS, AGENTS, AND EMPLOYEES HAVE NEITHER DIRECTLY NOR INDIRECTLY ENTERED INTO ANY AGREEMENT, PARTICIPATED IN ANY COLLUSION, OR OTHERWISE TAKEN ANY ACTION IN RESTRAINT OF FREE COMPETITIVE BIDDING IN CONNECTION WITH THIS BID, AND THAT THE BIDDER INTENDS TO PERFORM THE WORK WITH ITS OWN BONAFIDE EMPLOYEES AND SUBCONTRACTORS, AND DID NOT BID FOR THE BENEFIT OF ANOTHER CONTRACTOR.

THE BIDDER ACKNOWLEDGES THAT THIS IS AN UNSWORN DECLARATION, EXECUTED UNDER PENALTY OF PERJURY UNDER THE LAWS OF THE UNITED STATES AND/OR FALSE DECLARATION UNDER THE LAWS OF MISSOURI, AND ANY OTHER APPLICABLE STATE OR FEDERAL LAWS. THE FAILURE TO PROVIDE THIS CERTIFICATION IN THIS BID MAY MAKE THIS BID NON-RESPONSIVE, AND CAUSE IT TO BE REJECTED.

THE BIDDER CERTIFIES THAT THE BIDDER'S COMPANY KNOWINGLY EMPLOYS ONLY INDIVIDUALS WHO ARE AUTHORIZED TO WORK IN THE UNITED STATES IN ACCORDANCE WITH APPLICABLE FEDERAL AND STATE LAWS AND ALL PROVISIONS OF MISSOURI EXECUTIVE ORDER NO. 07-13 FOR CONTRACTS WITH THE CONTRACTING AUTHORITY.

Check this box ONLY if the bidder REFUSES to make any or all of these certifications. The bidder may provide an explanation for the refusal(s) with this submittal.

Signature of Bidder's Owner, Officer, Partner or Authorized Agent

Robert C. Radmacher, President Please print or type name and title of person signing here

Attest:

Radmacke

Secretary of Corporation if Bidder is a Corporation

NOTE: If Bidder is doing business under a fictitious name, the Bid shall be executed in the legal name of the individual, partners, joint ventures, or corporation, and registration of fictitious name filed with the secretary of state, as required by sections 417.200 to 417.230 RSMo. If the Bidder is a corporation not organized under the laws of Missouri, it shall procure a certificate of authority to do business in Missouri, as required by Section 351.572 et seq RSMo. A certified copy of such registration of fictitious name or certificate of authority to do business in Missouri shall be filed with the Missouri Highways and Transportation Commission, as required by the standard specifications.

(15) <u>TRAINEES</u>: By submitting this Bid, the Bidder certifies that the Bidder is familiar with the Training Provision in the Missouri Highways and Transportation Commission's "General Provisions and

Affix Corporate Seal

Supplement Specifications" which are available on the Missouri Department of Transportation web page at www.modot.mo.gov under "Business with MoDOT" "Standards and Specifications". The number of trainee hours provided under this contract will be **<u>0</u> slots** at 1,000 hours per slot or <u>**0** hours</u>.

(16) <u>SUBCONTRACTOR DISCLOSURE</u>: Requirements contained within Sec 102.7.12 of the Missouri Standard Specification for Highway Construction shall be waived for this contract.

(17) **PROJECT AWARD:** This project will be awarded to the lowest, responsive, responsible Bidder.

(18) <u>MATERIALS INSPECTIONS</u>: All technicians who perform, or are required by the FHWA to witness, such sampling and testing shall be deemed as qualified by virtue of successfully completing the requirements of EPG 106.18 Technician Certification Program, for that specific technical area.

(19) <u>PRIME CONTRACTOR REQUIREMENTS</u>: The limitation in Sec 108.1.1 of the Missouri Standard Specifications for Highway Construction that "the contractor's organization shall perform work amounting to not less than 40 percent of the total contract cost" is waived for this contract. Instead, the less restrictive terms of the Federal Highway Administration's rule at Title 23 Code of Federal Regulations (CFR) § 635.116(a) shall apply, so that the contractor must perform project work with its own organization equal to and not less than 30 percent of the total original contract price. Second-tier subcontracting will not be permitted on this contract. All other provisions in Sec 108.1.1 et seq. of the Missouri Standard Specifications for Highway Construction shall remain in full force and effect, and shall continue to govern the contractor and its subcontractors, in accordance with the provisions of Title 23 CFR § 635.116.

A CONTRACTOR OF A CONTRACTOR O				<mark>delinquent in the</mark> previous year	rohibits discriminatory ontractors doing business Chief Compliance Review Officer Jackson County Missouri 816-881-3302 compliance @jackonsongov.org
Jackson County Missouri Certificate of Compliance	In accordance with Jackson County Code Chapter(s) 6 and 10, this Certificate of Compliance is hereby issued to: Radmacher Brothers Excavating Co., Inc. 2201 North 7 Highway B Pleasant Hill, MO 64080 2022 Certificate: 20220111VC426	Issued: 2022-01-11 Expires: 2022-12-31	The above named firm/agency has met the following requirements:	Is duly listed and assessed on the tax rolls of Jackson County, Missouri and is <mark>not delinquent in the</mark> payment of any taxes due to the County, or did not have on December 31st of the previous year any property subject to taxation by the County	Attests and agrees to Chapter 6 of the Jackson County Code which prohibits discriminatory employment practices and promotes equal employment opportunity by contractors doing business with Jackson County. Chief Compliance Review 316-881-3302 compliance@jackonsong

	۹ (۲	John R. Ashcrof	F	AISSOURI ONI INF	MISSOURI ONI INE RUSINESS EII ING	
	Mis	Missouri Secretary	of State			
MY ACCOUNT	НОМЕ	SEARCH	MISC INFO			<b>@</b> Help
	U	Gen. Business - F	<sup>-</sup> or Profit Deta	For Profit Details as of 9/15/2022	N	
						Required Field
File Documents - select the	e filing from the "Filing Ty	File Documents - select the filing from the "Filing Type" drop-down list, then click	FILE ONLINE.			
File Registration Reports - click FILE REGISTRATION REPORT.	click FILE REGISTRATION	I REPORT.				
Copies or Certificates - click FILE COPIES/CERTIFICATES.	SK FILE COPIES/CERTIFIC	ATES.				
RETURN TO		Create Filing			FILE	
SEARCH RESULIS		Articles of Amendment		>	ONLINE	
ORDER COPIES/ CERTIFICATES						
General Information	Filings Principal O	Principal Office Address Contact(s)				
	Name(s)	RADMACHER BROTHERS EXCAVATING CO., INC.	CAVATING	Principal Office Address	2201 N State Route 7 Suite B PLEASANT HILL, MO 64080	
	Type	Gen. Business - For Profit		Charter No.	00343115	
	Domesticity	Domestic		Home State	MO	
	Registered Agent Date Formed	ROBERT C. RADMACHER 2201 N STATE RTE 7 STE B PLEASANT HILL, MO 64080 7/25/1990		Status	Good Standing	

## **MULTI-JURISDICTION- CORE4** PROPERTY TAX CLEARANCE CERTIFICATION (Jackson County, MO, Johnson County & Unified Government of Wyandotte County, KS)

Business to Be Certif	ed:						
1. Business Name:	Radmad	cher Br	others Excavati	ng Co.,	Inc.		
DBA Name:							
2. Business Address:		orth 7 H	ighway, Suite B		Pleasant Hill, MO	64080	
	Street				City, State		Zip
3. Contact Information	816-54 Phone	40-361	4	kkee E-ma	@radbroex.com		
Business Owner/Taxp		Certified	(Attach additional sh	neets if m	ore owners exist for you	ır business.)	
Owner Name: Robe	ert C. Rad	macher	r (President)				
	. 150	200 50	uth State Route	XX	Discount Lill M	0 64000	
Owner Residence Ad	Stress: Stre				Pleasant Hill, Mo	5 64080	Zip
Authorization/Signatur	e						<b>—</b> ,p
This Authorization sha	Il expire on	e (1) veai	r from the latest date	helow ce	rtified and is renewed u		
relating to unauthorize	a aisciosure	e ot conti	dential tax informatio	n resultin	entity named below har g from release of inform	ation related	to this Carof Toy
by wrongful transmiss	on of confid	applicable lential tax	ie confidentiality laws information to any o	s including other pers	i federal, state, or local, on.	including ar	y damages sustained
UNDER PENALTIES ( KNOWLEDGE AND B	OF PERJUR ELIEF, IT IS	RY, I DEC S TRUE, 4	LARE THAT I HAVE	EXAMIN MPLETE.	IED THIS AUTHORIZA	TION, AND T	O THE BEST OF MY
Further, I hereby certif	y that I am t	he Owne	r/Taxpayer named he	erein or th	nat I have the authority t	o execute th	is Authorization on
behalf of the Owner/Ta	axpayer here	einabove	named.		11		
					the A	1/2	
				9	Owner/Taxpayer	10-C	
evidence has been pre	RE4 represe above have sented to the ed for the p receding ve	e either b his office t receding ear or that	een paid in full, have that said owner/taxpa year against owner/t	been pai ayer had r axpayer s	howing shove have ale	preceding yo he preceding	ear or that satisfactory year. I further certify
OR							
Tax Clearance Not Gra	nted (	<b>–</b> 1	Entity				
Tax Clearance Not Gra	nted [		Entity				
Tax Clearance Not Gra	_						
JACKSON COUNTY, N	lissouri on t	this date:			, by Purchasing Agent	/Mgr/ County	Designee
JOHNSON COUNTY, F					, by County Treasurer/		
UNIFIED GOVERNMEI	IT / KC, KS	on this d	late: 09/12/2	2022	, by	Ke	ul

Contract Compliance Officer/Designee

#### MULTI-JURISDICTION- CORE4 PROPERTY TAX CLEARANCE CERTIFICATION

(Jackson County, MO, Johnson County & Unified Government of Wyandotte County, KS)

Business to Be Certified:								
1. Business Name:	1. Business Name: Radmacher Brothers Excavating Co., Inc.							
DBA Name:								
2. Business Address:	2201 North 7 Highway, Suite B	Pleasant Hill, MO 64080						
3	Street	City, State	Zip					
3. Contact Information:	kkee@radbroex.com							
Phone E-mail Business Owner/Taxpayer To Be Certified (Attach additional sheets if more owners exist for your business.)								
Owner Name: Robert C. Radmacher (President)								
Owner Residence Addr	ess: 15900 South State Route	K Pleasant Hill, MO 64080						
	Street	City, State	Zip					

#### Authorization/Signature

This Authorization shall expire one (1) year from the latest date below certified and is renewed upon agency request.

I, the undersigned Business Owner/Taxpayer, hereby hold each CORE4 entity named below harmless from any and all liability relating to unauthorized disclosure of confidential tax information resulting from release of information related to this Core4 Tax Clearance Authorization under all applicable confidentiality laws including federal, state, or local, including any damages sustained by wrongful transmission of confidential tax information to any other person.

UNDER PENALTIES OF PERJURY, I DECLARE THAT I HAVE EXAMINED THIS AUTHORIZATION, AND TO THE BEST OF MY KNOWLEDGE AND BELIEF, IT IS TRUE, CORRECT AND COMPLETE.

Further, I hereby certify that I am the Owner/Taxpayer named herein or that I have the authority to execute this Authorization on behalf of the Owner/Taxpayer hereinabove named.

Owner/Taxpayer

#### CORE4 CERTIFICATION

I, the undersigned CORE4 representative, do herby certify that property taxes levied for the preceding year against the owner/taxpayer shown above have either been paid in full, have been paid for the first half of the preceding year or that satisfactory evidence has been presented to this office that said owner/taxpayer had no taxable property for the preceding year. I further certify that property taxes levied for the preceding year or that satisfactory evidence has been presented to the preceding year against owner/taxpayer showing above have also been paid in full; have been paid for the first half of the preceding year or that satisfactory evidence has been presented to this office that said owner/taxpayer showing above have also been paid in full; have been paid for the first half of the preceding year or that satisfactory evidence has been presented to this office that said owner/taxpayer had no taxable property for the preceding year;

OR			
Tax Clearance Not Granted		Entity	
Tax Clearance Not Granted		Entity	
Tax Clearance Not Granted		Entity	
JACKSON COUNTY, Missouri	on this d	ate:	, by Purchasing Agent/Mgr/ County Designee
JOHNSON COUNTY, Kansas	on this da	ate:9/8/2022	, by <u>Lieg Baldwin</u> County Treasurer/Designee
UNIFIED GOVERNMENT / KC	, KS on t	his date:	, by Contract Compliance Officer/Designee



Finance Department

**Revenue Division** 

1118 Oak Street Kansas City, MO 64106-2786

LEIGH RADMACHER RADMACHER BROS EXCAVATING CO INC 2201 N STATE ROUTE 7 STE B PLEASANT HILL MO 64080-9406 
 Phone:
 (816) 513-1120

 Fax:
 (816) 513-1264

 Email:
 revenue@kcmo.org

 Website:
 kcmo.gov/tax

 Letter Id:
 L0902315264

 Date:
 20-Sep-2022

Taxpayer Id:

20-Sep-2022 \*\*-\*\*\*9884

լոհերինեներիինը իզիներինը հերկիրիներին

### TAX CLEARANCE STATUS: APPROVED

As of this date, this notice is to inform you that RADMACHER BROS EXCAVATING CO INC is current with all taxes and license fees with the City of Kansas City, Mo., Finance Department/ Revenue Division.

Please note this could change if we perform a full review of your accounts in the future. We will let you know if we need to review your accounts. You will need to pay any amounts that are found due at that time.

ha the

Mari Ruck Commissioner of Revenue

### AFFIDAVIT

Comes now Robert C. Radmacher

Printed Name of Affiant

\_\_, of the

Radmacher Brothers Excavating Co., Inc.

Name of Bidding Entity

and upon his/her oath states that in connection with the bid for

#### South Miller Road Bridge Reconstruction

Name of Project Being Bid Upon

that he/she has neither promised or paid any money in connection with the securing of this contract, and that no proceeds from the construction of the said project have been promised or will be paid to any individual or corporation. This affidavit is not construed to include payments for actual labor or materials furnished.

Further, Affiant saith not.

Signature of Affiant

Subscribed and sworn to before me, a Notary Public in and for Jackson County, Missouri,

this <u>30th</u> day of <u>August</u>, 2022.



ary Public Kathy L. Kee

My commission expires \_\_\_\_\_ December 17, 2024

#### JACKSON COUNTY PUBLIC WORKS SOUTH MILLER ROAD BRIDGE RECONSTRUCTION



Jackson County, Missouri Public Works Department – Engineering Division

### PROPOSAL FOR SOUTH MILLER ROAD BRIDGE RECONSTRUCTION

Federal Project No. BRO-B048 (56) JCPW Project No. 3214, Bid No. ITB 76-22

ltem No.	Description	Units	Quantity	Unit Price	Extension
1	Mobilization	L.S.	1	\$ 57,545.00	\$ 57,545.00
2	Contractor Furnished Survey and Staking	L.S.	1	\$ 8,956.00	\$ 8,956.00
3	Clearing and Grubbing	Acre	0.3	\$ 10,688.00	\$ 3,206.40
4	Removal of Improvements	L.S.	1	\$ 14,726.00	\$ 14,726.00
5	Unclassified Excavation	C.Y.	436.7	\$ 199.80	\$ 87,252.66
6	Class 4 Excavation	C.Y.	296.7	\$ 25.45	\$ 7,551.02
7	Embankment	C.Y.	757.6	\$ 2.65	\$ 2,007.64
8	Contractor Borrow	C.Y.	248.2	\$ 38.40	\$ 9,530.88
9	Barricades (Type III w/ Flashers)	Each	8	\$ 395.10	\$ 3,160.80
10	Construction Signs	S.F.	274	\$ 18.95	\$ 5,192.30
11	Foundation Stabilization	C.Y.	196	\$ 70.30	\$ 13,778.80
12	Culvert Leveling Pad	S.Y.	295	\$ 16.20	\$ 4,779.00
13	Double Cell 10' x 8' RCB Culvert (Precast or Cast-in-Place)	L.F.	104	\$ 3,271.00	\$ 340,184.00
14	Rock Blanket (Type 2)	C.Y.	48	\$ 86.50	\$ 4,152.00
15	Woven Wire Fence	L.F.	203	\$ 18.95	\$ 3,846.85
16	Barbed Wire Fence (Temporary)	L.F.	260	\$ 12.65	\$ 3,289.00
17	Aggregate Base (4") (MoDOT Type 5)	Tons	128	\$ 50.30	\$ 6,438.40
18	Asphaltic Concrete Pavement (4")(RC Type 1-01)	Tons	122	\$ 237.10	\$ 28,926.20
19	Silt Fence	L.F.	808	\$ 3.15	\$ 2,545.20
20	Sediment Removal	C.Y.	8.1	\$ 18.95	\$ 153.50

Page 12

#### JACKSON COUNTY PUBLIC WORKS SOUTH MILLER ROAD BRIDGE RECONSTRUCTION

#### FEDERAL PROJECT NO. BRO-B048 (56) JCPW PROJECT NO. 3214

21	Permanent Signing	S.F.	24	\$ 82.70	\$ 1,984.80
22	Temporary Seeding and Mulching	Acre	0.5	\$ 2,845.00	\$ 1,422.50
23	Permanent Hydroseeding and Mulching	Acre	0.5	\$ 6,322.00	\$ 3,161.00
			Total Amou	nt Bid for Project =	\$ 613,789.94

#### SIX HUNDRED THIRTEEN THOUSAND SEVEN HUNDRED EIGHTY NINE DOLLARS AND NINETY FOUR CENTS Total Amount Bid for Project (Typed or Written)

#### RADMACHER BROTHERS EXCAVATING COMPANY, INC.

Firm Name

Note: The County reserves the right to adjust the quantities up or down to any and all bid items to accomodte the available funds.

### **DBE Submittal Forms**

(6) <u>DBE Submittal Forms</u>: This form must be submitted by 4:00 P.M. three (3) business days after bid opening.

(A) <u>DBE Contract Goal</u>: By submitting this bid, the bidder certifies that the bidder is familiar with the DBE Program Requirements in this contract. The contract DBE goal for the amount of work to be awarded is <u>5%</u> of the total federal project price. The bidder shall also complete the DBE Submittal Form in accordance with the program requirements.

- (B) <u>DBE Participation</u>: The bidder certifies that it will utilize DBE's as follows:
  - 5 % OF TOTAL FEDERAL CONTRACT

NOTE: Bidder must fill in the above blank. If no percentage is specified, the bidder certifies that it agrees to, and will comply with the contract goal. If a percentage below the contract goal is specified, then the bidder must submit complete documentation of good faith efforts to meet the DBE contract goal, immediately below.

(C) <u>Certification of Good Faith Efforts to Obtain DBE Participation</u>: By submitting its signed bid, the bidder certifies under penalty of perjury and other provisions of law, that the bidder took each of the following steps to try to obtain sufficient DBE participation to achieve the Commission's proposed DBE Contract Goal: (Attach additional sheets if necessary).

Phone Calls
Emails
Invitations to Review Plans

### DBE SUBMITTAL FORMS (cont.)

Identification of Participating DBEs: The information shown on this page must be completed. If this page is submitted but not signed, it will not be cause for rejection. The apparent low and second low bidder must file this form with the <u>Jackson County Compliance Review Office</u> by 4:00 P.M. on the third working day after the bid opening. Fax or email transmittal is permitted. The fax number is (816) 881-3302 and the email address for submittal is <u>cro@jacksongov.org</u>. The original copy must be mailed by overnight mail to the Local Public Agency the day of the FAX or email transmittal. Contact External Civil Rights at (573) 751-7801 for questions or assistance in completion. (Note: Submittal of this form is not required if the Contract DBE Goal is 0%)

The undersigned submits the following list of DBEs to be used in accomplishing the work of this contract. The work, supplies or services, applicable value and percent of total federal contract each DBE is to perform or furnish is as follows:

(A) DBE Name & Address	(B) Bid Item No. (or Line No.	(C) \$ Value of DBE Work** (Unit Price x Quantity of each Item in B, or	(D) % of \$ Value Applicable to DBE Goal** (100%, 60%)	(E) \$ Amount Applicable to DBE Goal** (100%, 60%)	(F) % of Total Contract Amount for each Item (E ÷ Total Contract
1. Welch Silt Fence & Erosion Control; PO Box 526; Peculiar, MO 64078	19, 22, 23	Lump Sum <u>\$ 6,774.00</u> Total	100%	<u>\$ 6,774.00</u> Total	Amount) <u>1.1%</u> Total
2. Streetwise, Inc.; 13501 Arrington Road; Grandview, MO; 64030	9, 10	<u>\$ 9,816.00</u> Total	100%	<u>\$ 9,816.00</u> Total	<u>1.6%</u> Total
3. Grey Diamond LLC: 16722 S Hadsell Road; Pleasant Hill, MO; 64080	13	<u>\$ 23,694.00</u> Total	100%	<u>\$ 23,694.00</u> Total	<u>3.8%</u> Total
4.		\$ Total	100%	<u>\$</u> Total	Total
Total DBE Participation		\$40,284.00		\$40,284.00 (131%)	6.5%

\*\* Cannot exceed contract amount for given item of work.

### DBE SUBMITTAL FORMS (cont.)

(A) DBE Name & Address	(B) Bid Item No. (or Line No.	(C) \$ Value of DBE Work** (Unit Price x Quantity of each Item in B, or	(D) % of \$ Value Applicable to DBE Goal** (100%, 60%)	(E) \$ Amount Applicable to DBE Goal** (100%, 60%)	(F) % of Total Contract Amount for each Item (E ÷ Total
		Lump Sum			Contract Amount)
Trucking Services					
Only used if the DBE owns the trucks or is leasing from a DBE firm		100%			
Trucking Services			Oshukashuda Essa		
Trucks are leased from non-DBE source			Only Include Fees for Trucking Services		
Brokered Services			Only Include Fees for Brokered Servics		
Totals (Page 1)			100%	\$40,284.00	6.5%
Totals (Page 2)			0	0	0
Totals (additional pages if needed)					
Total DBE Participation	contract amount		100%	\$40,284.00	6.5%

\*\* Cannot exceed contract amount for given item of work.

Company: Radmacher Brothers Excavating Co., Inc. Date: September 2, 2022

By: Ben Cummings

Title: Project Manager